WORKSHEET
CLASS-V
TIME : 1 HOUR
NAME - SEC -
A Fill in the blanks:
1 The equivalent fraction of % is
2 The area of a square with side 5 cm is
5
3 2; is expressed in improper form as
4  To find the cost of ploughing the field, we need to find its
B  Write the answers of the following:
5 Find the area of a rectangle with length 50 cm and breadth 20 cm.
5
6 Add:2 and E.
8 4
7  Ifthe perimeter of a square is 240 cm, find its side.
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8 Arrange is ascending order:

2 1 7 11
5’ 2’ 10’ 20

9 The side of a square park is 80 m and the length of a rectangular park is 160 m. If the area 3
of both the parks are same, find the breadth of the rectangular park.

10 Make a bill for the following shopping list:

4
ITEM QUANTITY | PRICE (per unit
Pencil 20 X7
Ruler 12 10
Eraser 15 15
Sharpener 5 5

Page 2 of 2



